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7 100kN/mMZE#BZ5| 1.00 1000 ~ 270 14254 |3mE8BZB| — ~ — — — | 100kN/mMi%EEEZ5 | 1.00 | 1084 ~ 2268 [42.54 |3mEBAS — ~ — — —
zhust 1.00 | 270 ~ 1w4s| 100.00 | Ths | 0.00 ~ 1048 2.87 14.49 zhst 1.00 | 5,00 ~ 1084 100.00| Thds | 500 ~ 2268| 287 14.49
2 100kN/mMZE#BZ5| 1.00 000 ~ 269\ 14246 |3mE8BZB| — ~ — — — | 100kN/mMiZEEZ% | 1.00 | 1065 ~ 2248 [42.46 |3mEBAS — ~ — — —
zhust 1.00 269 ~ 14| 100.00| Ths | 0.00 ~ 1043 2.81 14.18 zhst 1.00 | 500 ~ 1065 100.00 | Fhs | 500 ~ 2248| 2.81 14.18
3 100kN/mMZEBZ5 | 1.00 | 000 ~ 248 13885 |3mE®BZD| 000 ~ 005)| 3.03 15.33 | 100kN/mM%&#B25 | 1.00 | 11.75 ~ 2297 13885 |3m&E¥8ZB| 2000 ~ 2297| 3.03 15.33
zh st 1.00 | 248 ~ 1027 100.00 | Thds | 0.05 ~ 1027] 3.00 15.16 zhilst 1.00 | 500 ~ 1175 100.00 | Fhs | 500 ~ 20.00| 3.00 15.16
4 100kN/mMZEBZ5 | 1.00 | 000 ~ 306 14869 |3mEBZD| 000 ~ 044 326 16.48 | 100kN/mM%E#B25 | 1.00 | 1095 ~ 26523 14869 |3m&EEZB| 2500 ~ 26.23| 826 16.48
zh st 1.00 | 306 ~ 1084 100.00 | Fhds | 044 ~ 1084| 3.00 15.16 zhilst 1.00 | 500 ~ 1095 100.00 | Fhs | 500 ~ 2500| 3.00 15.16
5 100kN/mMZEBZ5| 1.00 | 000 ~ 241 137.71 |3mEBZZ| — ~ — — — | 100kN/m#Z#BZ% | 1.00 | 1054 ~ 2051 137.71 |amEEZ 3 — ~ — — —
zh st 1.00 | 241 ~ 1019 100.00 | #n4s | 000 ~ 1019| 2.74 13.85 zhilst 1.00 | 500 ~ 1054 100.00 | =hds | 500 ~ 2051 2.74 13.85
g 100kN/mMZE®BZ5| 1.00 | 000 ~ 231 136.16 |3mEBZD| — ~ — — — | 100kN/MZ&# 2% | 1.00 | 1058 ~ 2073 136.16 |3mEEZS — ~ — — —
zh st 1.00 231 ~ wiwo| 100.00| Fhs | 0.00 ~ 1010|265 13.39 zhilst 1.00 | 500 ~ 1058 100.00 | Fhs | 500 ~ 20.73| 2.65 13.39
7 100kN/mMZE#BZ5| 1.00 000 ~ 199 130.69 |3mEBZB| — ~ — — — | 100kN/m%EE#EZ5 | 1.00 | 1055 ~ 1826 130.69 |3mEEAZS — ~ — — —
ZFhilst 1.00) 199 ~ 977 100.00 | Fhs | 000 ~ 9.77| 2.34 11.82 zhst 1.00 | 5,00 ~ 1055 100.00 | Fhs | 500 ~ 1826 2.34 11.82
g 100kN/mMZE#BZ5| 1.00 1000 ~ 169\ 12587 |3m&EBZB| — ~ — — — | 100kN/m%EEZ2 | 1.00 | 1073 ~ 1736 12587 |3mEBA% — ~ — — —
ZFhilst 1.00 169 ~ 947 100.00 | Fhs | 0.00 ~ 947 | 2.27 11.49 zhsth 1.00 | 500 ~ 1073 100.00 | Ths | 500 ~ 1736| 2.27 11.49
9 100kN/mMZE#BZ5| 1.00 1000 ~ 098\ 114.71 |3mEBZZ| — ~ — — — | 100kN/m#%E#8Z2 | 1.00 | 1147 ~ 1546 114.7] |3mEBZ3 — ~ — — —
Zzhilst 1.001098 ~ 876 100.00| Ths | 000 ~ 876|217 10.98 zhsth 1.00| 500 ~ 1147| 100.00 | Ths | 500 ~ 1546| 2.17 10.98
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% B Z % ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh st ~ zh st ~ zhn st ~ Zzh st ~
100kN/ Mm% Z % ~ InEHBZD ~ 100kN/M%EBZ5 ~ ImEHBZD ~
zh st ~ zh st ~ ZznLst ~ zh st ~
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